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Note: All questions are compulsory. Carrying of mobile phone during examinations will be treated as

case of unfair means.

methods adopted to suppress over voltages in thyristor based systems.

Q2. a) What are the different components of power loss that occur in a thyrl
Which of the power loss component(s) is/are dominant at power fre(lu
frequencies? :

[3]

OHz supply with a load resistance
.possible output voltage is required.
angle, (b) average and rms value of

[5]

Q4.Derive the expression for steady state ripple.obse ed in type A chopper assuming continuous load
current and suggest methods to minimize.thé:ripple. Prove that for type A chopper operated in
continuous conduction mode, per un “in the load current is maximum when duty cycle a =

0.5. [5]

b) Why are three phase rectifiers preferred over single phase rectiﬁi’?ﬁeré?

Q3. A 3- phase M-3 convertor is operated from 3 phase, 23
R=10Q. An average output voltage of 60% of the maxi
Draw output voltage waveform and determine (a), the firin
load current and (¢) rectification efficiency.

curtent. [5]

Q7. Explain the working principle of cyclo-convertor operation. Draw the circuit diagram for bridge
type cyclo-convertor and using waveforms explain how can we use same device as step up or step
down convertor. Is it possible to use this device as rectifier? State the reason to support your

answer. [5 ]




